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— IRD PR TIDWR IND PR TN
There is no ;732 here; there is no collateral here

OVERVIEW

7am1 27 ruled in a case where a man said to a woman, ‘become NWTIPH to me
with a 71n’; however he did not give her a 71, rather he gave her an object to
hold as collateral until he will give her the 712; she is not nwTPn, because
IRD TR 71OWnA X3 PR 730, Our Mmoon will discuss this rule and its application.
A 1own is generally associated with a guarantee of the M to the Mm% that the
loan will be repaid. It does not create any obligation; it merely secures the
existing obligation. This m»doIn discusses whether a 1OW»n can create an
obligation where none existed prior to the giving of the 1own.

— 193 939X D) D2 NP NYNRAY 395 NYNHDN NN W1
The explanation of the phrase X2 PPX 712wW» X2 X 7n is that she is not
neTPn, since a woman is acquired with money, and the money is not

forthcoming, therefore -
— AYNN 152 INYS XYY 1153 90N NN PIYND PRY NPd NN

How can the man acquire the woman with a 11own, since the 112w is not in
place of the money, for it will not remain in the woman’s possession!

mooIn explores an alternate situation:
— NYNPNT NOIVI 2‘[7\’) 97 PIVNNI NT PIYNI Y SYIPNN N 9N ON INT

Certainly, if he said to her, ‘become nw7i?» to me with this 1ow» and

the 1own» will be yours’, then it is obvious that she is nwT?n. However in
the case of 1um1 27 where he was wpn her with the money and not the 15w»; she is not
nwTpn.

NvOIN continues:
— 199 19WN 1Y NN *mamna nmn 19 99N 19%°2NY 99N DN ON 19 91999

" The term w7 is (usually) used to denote that mpOW is rejecting another (perhaps more obvious)
explanation. It is possible that Mmoo is rejecting (711 7"72) *"w7o. See 71 MR (W"XIT ¥) 2RINI 127,

? This would seem to be a case where he initially intended to be w7pn her with a 3. However since he has
no ;111 presently, he is giving her a 710wn (to guarantee that he will eventually give her the 711), and is
saying to her that the 1"w17°p should be effective through this 110w, which will belong to her (until he pays
her the 11n). See footnote # 5.

? The (mere) fact that he told him he would give him a gift, certainly does not obligate him monetarily to
owe him a gift. There is no commitment by just promising a gift. m201n teaches that even the giving of a
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And similarly if a person says to his friend, ‘I will give you a % as a

gift’, and he left over a 732w to assure that he will give him the 71n»; the ruling is

that the recipient -
- 51’\’)1‘1’?5 91 12 PINY PN 4119\’)):7! N2OVNI NINN NP N

did not acquire the gift through the 72°w» of the 1>w». And one should

not differentiate between a 7an» and °@175p; the ruling is the same in both that
IRD PR 710w IRD PR 711, A 1OWn is not an obligation to pay.

mooin offers an alternate view:
— N2 N3N 1Y 1NN 19°2NY DN 99X OXY 99IN O 12°29 OYAa )N 0N 19’29

And 372 n''9 says in the name of the n''9, that if a man says to his friend,
‘I will give you a 1% as a gift -

— 1390 7Y INRY 1Y PIYND Y PINN YN PYY P 1950
And here is a own» to guarantee it, and do not return the >w» to me

unless I give you the /71%» -
— %1319 19 J1PY 1Y 119UNN 29¥Y 9199 INTY INT

Then the recipient may certainly retain the w2 until he gives him the

man.’

71o0wn to guarantee his promise is insufficient to obligate him for the gift. The 112wn must be returned and
there is no obligation concerning the gift.

* Moo is introducing a novelty in the ruling of "X 179w» "X 73»; not only is the Now» ineffective by 1w TP
since it is not considered as a transfer of funds, but in addition a 19Dw» cannot create an obligation in a
situation where there was no obligation prior to the giving of the 110wn. [Even if we maintain that a 195w is
ineffective by w17 (because 1w requires an actual transfer of funds from the man to the woman), we
could have maintained that a 175wn can create an obligation on the benefactor to honor his words, since he
gave the 1own. However maoin rejects this distinction. See (however) following footnote # 5.]

> It would seem that N921n maintains that if a 19w» could create an obligation by 7ann, there is reason to
assume that a 15wn would be effective by 1w17°p as well. The reason a 112wn would be effective by finn
would be that by giving the 1own, the 10 is granting the %2pn a specific monetary right in the Mown;
thereby obligating himself to redeem the 15wn (if he wants it returned). Therefore by Pw17p it would be
very similar to (if not the same as) the case of 119wn2a *2 *wTpna (see footnote # 2) where NN maintains
that she is nwTPn since she has rights to the 115wn (even though she does not own it [since he can have her
return it when he redeems it with the monies promised]). [This may be the reason m»oIn mentions the case
of 127 R R R ]

% There are different interpretations as to the meaning of 173 1"7. Some maintain that generally he is in
agreement with MooIN that a 1OWn cannot create a new obligation. However if the benefactor specifically
told the beneficiary that he should not return the 12wn until the benefactor honors his pledge, then the
beneficiary is entitled to keep the 112wn, until he receives the funds promised. Others maintain that 172 1"9
disagrees with mpoIn and maintains that if a 112Wn was given, it creates an obligation on the benefactor,
even if he did not specifically state, ‘do not return the 119w» until I give you the money’. (Those words were
mentioned by 175 "7 [merely] as an explanation why the beneficiary may keep the 112wn; since this is the
essential meaning of every 115w, so it is considered as if he specifically told him so.)
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nmooN asks on the ruling of 1M1 27 that 1R X 19WA 1R "X 731 (according to MooOIN):
— (3,ny 97 80 823) PPININD DX 92IVN2 9IRT NI NN

And there is astonishment on this ruling of 2"Xn 2"Xn, based on that

which the X773 states in °12I877 AR 21257 27D -
— AN NINY 927 D) 1NV MYYNY DIYNDN NN 99IVN 1)

Concerning the 71w» which states, one who hires workers to remove the

flax (from where it is soaking) or any type of work which is timely®; if it is

a place -
— %901 X 1799 199V 172 191M BN DY PRY DIPN

Where there no other people to hire and the workers retracted, the owner

may hire other workers on their expense, or the owner may deceive them.
This concludes the mwn.
— )99 75 1y 1N 39 9N 179Y 99 D13 1Y 1399I

And the %713 discusses there and asks, ‘up to how much can he hire new
workers at the expense of the original workers’? y2m1 29 ruled up to the

amount of wages that that he owes them. The X3 continues -

— M OOYUNNI DIYAIN 1Y 1IN 29D N29 NN
X239 challenged 3%m1 29 that we learnt in a Xn»72 that he can hire new
workers up to forty or fifty ™7; an amount that is greater than what he would
(usually) owe the original workers. Why does jn11 27 limit the amount to the wages
which he owes them? m11 27 responded. That Xn>12 -

— Pypan Sya 1Y 9na HY MININ 999 INIY Y19 112 AN NNV BNN
there, is discussing a case where the owner has the worker’s bundle in his
possession, meaning that the workman’s tools were in the possession of
the owner, and therefore he can sell those tools and increase the pay of the new
workers up to the amount of these tools. This concludes the citation from »n"2. Now

mooIn concludes his question:
— IND PPN POV JND PPN 131D NN 2N INM 1792 NN NN 25 RNYN)

! By 1w1p however 172 1" obviously agrees ([even] in this case) as 711 27 ruled that she is not nwmpn
since 2"&n 3"®n (even though [in the case of 172 11"7] she may need not return the 15w unless he pays her
[notwithstanding that she will not be nwTpn to him]). See (however) 1"k footnote # 47 and onwards.

¥ A loss will be incurred if the work is not completed immediately.

? There were no workers who were willing to do the job for the same wages as the original workers.

' The employer may tell the workers that he will raise their wage, and when they finish, he is only
obligated to pay them the original wage; not what he added to induce them to continue.

oy, n"a.

"2 If the original workers quit after working three hours (for instance), he can add the pay of those three
hours to the new workers regular pay (to induce them to come) and not pay the original workers anything.

"> The owner (usually) requires that the workers deposit their tools by him to assure their coming to work
(the workers agree for otherwise they would not be employed). See footnote # 15.
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But now that we maintain 2"X 719w» 2"XR 712, even if the bundle is in his

possession what of it! For we should apply the ruling of 5"x%» 2"8n!* He
should have no right to sell their bundle even if we consider it to be a 112wn for their
work.

Mo0IN answers:
— 1991 15 119 ©NNT 9T NYT UMY U

And one can say; that the cases are not comparable, for there by the

workers, they caused him a loss, therefore he can be compensated from whatever
they deposited as a 110wn.

mooin offers an alternate explanation:
— 15399 919¢Y 19 1999 NIN )I9UN NNNA NY%ANN PRY N

And in addition; the bundle is not merely given as a 1own», but rather it
is acquired by the owner to hire other workers.

mooin finds a practical application of this 75%:1:
— 1199 9272 DY A998 PV MVYY 1PV

And when marriages are arranged one must be extremely careful when
accepting financial repercussions should they recant on the 7w -

— NN 9N T 12 7Y NP 2N 291 MNIY
That each of the committing parties should say I am granting to you (the

other party) such an amount of money in this object which is held in escrow
(if I should recant on the T7°W) -
— P9YN Y9 RN 9 95 7Y 1NN 22 MNN ON 99N ONT

For if the party will (merely) say, ‘if I recant I will pay you this sum, and
here is the 179w to guarantee it, then the ruling will be that -

— JND PN PN JNI PN NN
IR2 PPN 7122 IND PN 73R and he will not be liable for his commitment of payment.

mooIn offers a possible alternate view:
— NI PN POV IND PPN 11 1ININ KD 1917Wa RNY)

'* Granted (even) that the workers deposited their tools by the employer as a guarantee of their working;
however as stated above a 712wn cannot create an obligation. The rule of 3"®n 3"X»n should apply

'> There can be no comparison between a 119wn which is given to create an obligation regarding a gift
(where it is ineffective, for we can assume that the whole transaction was not taken seriously by the
benefactor), to a 1Dwn» which guarantees protection from a loss (which is effective, since all the parties
involved, including the workers, realize its importance [it assures the workers of their employment, and
protects the owners from loss]). See footnote # 13. See ‘Thinking it over’ # 1.

' There is a tacit understanding when the workers deposit their tools by the owner, that the employer has
the right to sell them in order to procure new laborers if they do not finish the work.
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That perhaps by 1°>17°2 we do not rule >''X»% 2''R% -
$9292 VNN YN 1 NN 1NN TANNAYIY 1’0

For since if one recants, the second party is embarrassed in this matter."’

SUMMARY

If a man intends to be w7p»n a woman with a 771» and tells her that he will
(eventually) give her the 711, and now he is giving her a 11Own as a guarantee
of his intention she is not NWTIP1 since 3"XM 3"X1; meaning that since he did
not give her the 71» with which he intends to be w7pn her, rather he merely
gave her a guarantee, it is ineffective 7W17°p, since PW17°2 requires a transfer
of no2. However if he gave her the 115wn as Pw17°2 and stipulates that when
he has the money she will return the 115wn, then she is nWTPn, since he is
giving her something of value at the time of the w1 7p.

Concerning promising a gift, the same rule applies that a 119W» cannot create
an obligation where none existed before, and the intended beneficiary is
required to return the 112wn to the owner. However if the benefactor clearly
stipulated that the beneficiary should not return the 112wn until the benefactor
gives the promised gift, then he may keep the pown.'®

There are exceptions to this rule of 3"&» 3"Xn, notably where the 1Own is
given to prevent a possible monetary loss or embarrassment to the recipient
as in the cases of workers (leaving their jobs) and (recanting) 2°17°.

THINKING IT OVER

1. moon explained' that since the workers caused a lost, therefore he can
collect from their (10wn) 7%2°an. Seemingly if they caused a loss, why cannot
he collect from them even they gave no pawn?!*

2. What is the 1°7 if one is w7pn a woman by giving her his check?'

' 1t is not considered a 12wn which creates an obligation but rather it is a guarantee of payment for the
embarrassment caused to the other party; similar to the case of the workers (who cause a loss). See footnote
#15.

' See footnote # 6 for an alternate view.

"% See footnote # 15.

0 See onaT "R A"TA A"

*! On one hand giving a check (seemingly) creates an obligation, on the other hand he is not giving her
anything of actual value at this time (a check is merely a right to collect funds from the writer’s assets).
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